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Math 451 Homework 1
Due Friday, February 1, 2008

. On page 158 of Logan textbook: Number 1. HINT: First show that J(y) < £ for

all admissible functions y. Then show that J(—t) = £.

On page 158 of Logan textbook: Number 2.

On page 166 of Logan textbook: Number 1. For each of (a)-(c), if the set constitutes
a linear space, verify each of the seven properties, and if the set does not constitute
a linear space, show that one of the seven properties is violated. (note: there may
be more than one of the seven properties violated; however, you only need to show
that one of those properties does not hold in order to show that the set is not a
linear space).

On page 166 of Logan textbook: Number 2.
On page 166 of Logan textbook: Number 3.
On page 166 of Logan textbook: Number 5(a).
On page 166 of Logan textbook: Number 5(c).
On page 166 of Logan textbook: Number 5(e).
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